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2011 Preventive Maintenance Schedule and Checklist By : SIAMWELL ENGINEERING SUPPLY

: Year 2021 -

No.| Site. / Tag No. Model Status Frequency e 51312156l 7 TIEFIER annotation
1| —— DSV - FWN - DN20 - (3/4") p/o: I 180 days |12rget
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 02/09/2020 Actual
5 | DSV - FWN - DN20 - (3/4") P/O: 180 days Target
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 02/09/2020 Actual
5 | — DSV - FWN - DN20 - (3/4") P,FD:t_ 180 days |12rget
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 02/09/2020 Actual
4 | — DSV - FWN - DN20 - (3/4") P,FD:t‘— 180 days |12rget
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 02/09/2020 Actual
s | e— DSV - FWN - DN20 - (3/47) P,FD:t_ 180 days |T2IGEt
Flange: ANSI #600RF (3/4"), F-F 229 mm. Waranty : 02/09/2020 Actual
¢ | e— DSV - FWN - DN20 - (3/4") P,FD:t_ 180 days |12rget
Flange: ANSI #600RF (3/4"), F-F 229 mm. Waranty : 22/01/2020 Actual
2 | —— DSV - FWN - DN20 - (3/4") P,FD:t_ 180 days |12rget
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 22/01/2020 Actual
s | I DSV - FWN - DN20 - (3/4") P,I’D:t_ 180 days Target
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 22/01/2020 Actual
5 | E— DSV - FWN - DN20 - (3/4") P,FO:“ 180 days |1212EE
Flange: ANSI #150RF (3/4"), F-F 151 mm. Waranty : 22/01/2020 Actual
10| E—— P o oo 180 days [Lardet
Flange: ANSI #600RF (3/4™), F-F 229 mm. Waranty : 22/01/2020 Actual
11| —— DSV - FWN - DN20 - (3/4") P,FD:t_ 180 days |12r2et
Flange: ANSI #600RF (3/4"), F-F 229 mm. Waranty : 25/03/2020 Actual
2| e— DSV - FWN - DN20 - (3/4") P,FD:t_ 180 days |12r€t
Flange: ANSI #600RF (3/4"), F-F 151 mm. Waranty : 25/03/2020 Actual
13— e . oo I 180 days |Lardet
Flange: ANSI #600RF (3/4"), F-F 151 mm. Waranty : 25/03/2020 Actual
14| ———— DSV - FWN - DN20 - (3/4") r/o: G 180 days |12r9et
Flange: ANSI #600RF (3/4"), F-F 151 mm. Waranty : 25/03/2020 Actual
15| D DSV - FWN - DN20 - (3/4") P/O: — 180 days Target
Flange: ANSI #600RF (3/4™), F-F 151 mm. Waranty : 25/03/2020 Actual
| DSV - FWN - DN20 - (3/4™) P/O: — T =k




